= 2
‘—1 X toxre=0
Steps:
1. add in parenthesis & blanks

2
2. in the blanks goes (—g-)

3. factor the parenthesis & combine like terms

4. solve if necessary

a1 oX*thoxi(

. Steps:

1. divide the a-value out of the x° & x only!

2. add in parenthesis & blanks

b 2
3. in the blank in the parenthesis goes (5)

4. the other blank is a{%)

5. factor the parenthesis & combine like terms

6. solve if necessary

CTS Fun!

h
ex. I: put into vertex form & find the vertex y = x* +10x—7
® Y= Gt Ox+—> ——— =1

@U =Cx*+iox + 250 — 25 -1
Y= (XtD)(x+58) —=32
% g G o VBN
ex. 2: solve by completing the square 0=x*-8x+2
® 0= —dx+ > —— L
(3 0= G-—Bx +307) = s +7
B0 = (x=a) -\
4 = (x-4)"
® £ 7' =x-1
B TR =%\
ex. 3: put into vertex form y =3x*> +18x—7

e v

P

O Y=3X"1Ux +— > —— =T
Tag 0
LX
@dﬂ:3< Xi*ux+ _CI_> -—Zi i

=3 X+3)(x+3) — 34
Y= 3(x+3y - 34 ~

ve (=%,-34)

®



More examples!!
Put the following into vertex form & name the vertex.
. y=-2x"+12x-5 , 2. y=4x*+32x+17
W= 2 (F—uxr—) T~ YA 8+ ) - +1T

=
= OOy o - _
W= 20 Y S) = 11D -5 Y=4 (X 2xr 19 (14 £\

Y= — 2B N\ -D
; \5 = ’ZLX’?)B? ’*\Fbk B =4 CX—'-LfXK’f'L{\ — 471
{ \ — : z‘_q-—%
NG A\ wox \9 4{X+4) |

: (-4, -4 mi
Solve for x by completing the square \/ < é—l, 4 ) N

3. x> +40 = 4x 4, -3x? -24x-156=0

5. 2x* ~4x—14=50 6. 4x’ —Tx+44=3x" +x
) SR T ey

X =&x td = O
(X*=8x+ 10y — b +44=0
CX=4)"+28 =0
[x-a* J’?e?
X-4 = 2% A e
= 4+ J:'{g‘ FPJ—’

&;LZ_J" e



